
Quadratic formula ି௕±√௕మିସ௔௖
ۛۛۛۛۛۛ 

ଶ௔

Can be used to solve any quadratic equation ܽݔଶ + ݔܾ + ܿ = 0        ܽ ≠ 0

Solve

ଶݔ + ݔ3 = 2 Set equal to 0

ଶݔ + ݔ3 − 2 = 0 Label a=1 b=3 c=-2 and plug into 
quadratic formula 

ݔ =
−(3) ± ඥ(3)ଶ−4(1)(−2)
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Simplify the radical

ݔ =
−3 ± √17ۛۛۛ 

2
ۛۛۛۛۛۛۛۛۛ

Simplify

Discriminant ଶ

ܾଶ − 4ܽܿ > 0 ଶݔ + ݔ6 + 8 (6)ଶ−4(1)(8) = 36 − 32 = 4 2 Real Solutions

ܾଶ − 4ܽܿ = 0 ଶݔ + ݔ6 + 9 (6)ଶ−4(1)(9) = 36 − 36 = 0 1 Real Solution

ܾଶ − 4ܽܿ < 0 ଶݔ + ݔ6 + 10 (6)ଶ−4(1)(10) = 36 − 40 = −4 2 Imaginary

1.8 Use the Quadratic Formula and the Discriminant
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